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THREE YEAR BSCS., (CBCS). DEGREE EXAMINATION, APRIL 2018

SIXTH SEMESTER
Part II — Statistics (WM)
APPLIED STATISTICS

Time : 3 Hours -

6.

SECTION - A
elrKS30 -

Answer any FIVE questions.

Each question carries 5 marks.
DD D (F)OK FIATFD0 FPOB0.
9 1585 5 Soeddyen.
(Marks : 5 x 5 marks = 25 marks).
Explain .time series. Give its_uses. | |

SRS ISB0IHIN. TR &IBITTe0 BELHIW.

Explain principle of least squares.

K033 00 BIBB0R D3B0YD.

Define index numbers. Give its uses.

A Q0O DELDOHAN. TR0 ABE); BIGIT O BLVYDN.

Explain fixed base index numbers.

980‘@’6 [oed Dog)5em DH80HB.

Explain agriculture statistics.

5590705 r0ggE TRV HSBOYA.

Explain National Income.

2°H0L0 TPV DHBoHH.

Max. Marks : 75
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10.

11.

12.

Define vital statistics. Give its uses.

29 RPORgE BPRRVR DEFDODD. TR BE); GIBI PO BOVIHAN.

Explain sources of collecting vital statistics. -

B oPRGE TPYA VEBEIS” ST ErER0OR0 DHB0HB.

Define :
(a) Crude rate of natural increase

(b) Pearl’s vital index.

(@) DG e BKS Bew
(b) 85y 8B ArHOD DEGDOIHR.
Define life-table. Give its uses.
B8 - 56350 DEGDOHH0. T°D SIAITTOR BELHHD.
SECTION - B
DS - D

Answer any TWO questions.

Each question carries 10 marks.

DD B PUENSEURS RS AR VI e SUNIVE
D8 5% 10 Joedo)e0.
(Marks : 2 x 10 marks = 20 marks)

Explain components of time series with examples.

5ORBS’ ©0TOR AT G0N IHB0HAW.

Calculate seasonal indices to the given data by using Link-relative method :

&8 1808 DA SBPOFINNK, 22080 IPIEOR Do - nFee IEAS Kedotodw :

Quarter | T | II [III | IV
(s°585)

Year_

(9058850
1987 14| 20| 26| 17
1988 | 27|26|22|15
1984 | 13|17]21]23
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13.  Explain the problems involved in the construction of index numbers.

Q0D Bog)ge DTREIINES® MBS D3V5OR0 DHBOHDW.

14. From the following data, calculate various weighted index numbers :

Commodity Base Year Base Year Current Year  Current Year
5309 Quantity Price Quantity Price
BH°E S0IBYBO  &E°8 F0IBYB0 DB JodBYBo (S DoDeyBo

JBJo°e20 Al 2B83T°e0 fale]
A 12 10 15 12
B 15 07 20 05
C 24 05 20 09
D ' 05 16 - 05 14

D BFPOBIVIL DG gr8H Joed QOO Ke3oodw.

SECTION - C
JerKS00 - D

Answer any THREE questions.

Each question carries 10 marks.
DD DT (OO DAT R[N [@FPAS0[0.
@S (3%)% 10 Joetoyev.

(Marks : 3 x 10 marks = 30 marks)

15.  Explain the functions CSO and NSSO.

CSO 08a50 NSSO D000 380IHd0.

16. Explain the gross and net reproduction rates.

Ay 508050 DS HHHEYS Bewwis K78y 9580

17.  Define National Income. Give various methods of calculating it.

2" QAN e3TONHNR DEGDOHDN. T°AD Ke3odd sgmwa@,gm.
18. Explain different death rates along with merits and demerits.
2965 20560 Begido, FEETE0 IBAM DOKETOS® 53 D3B0YHI.
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19. Calculate various birth rates to the following data :

Ss (808 ST0B00K widD Begdo HeBosod :
Age of group : 15-19 20-24 25-29  30-34 35-39  40-44
Female population: 1, 16,410 1, 13,610 1,02,930 93,300 73,920 62,700

No. of live births : 10,468 . 16,983 12,522 7,083' 3,456 1,140

20. Define life table and a bridged life table. Explain compohents of life table.

a?f.’)ébeg.&i 208050 o83 ) 5%335&) DEGDOIHI. BB 5%3)58558) I0BIVON DDBoJHD0.
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